ELEHE — AEEREE  REGBE ﬁ%ﬁ%{a BATHHE ATHBE — BEEEHE

A - - > 58123 o
=il s AR g7z e EE RS &
— 255 mmis m@uzm mun S R A 4

A = - B )
e e L :1I:1E'1221L1 B | 80% || F | 40% . . EETH
C; QZ @ c G
e D | 604 l 58138 (BEE) 58131

ﬁﬁﬁ'l%hh ﬁﬂlﬁ%&

<>
[="=3
—_—
<D
hterd

N

7T -
=/ | / e N 5
/||| U | S S (S
Y //f Ml / / S5 y/ — 1300 AT —=1300 —
' 3 e g T
[ JLiEET3 TH /7\/ j/\J 250; J | ﬁiz\i/ 125
ﬂ . \Izsn I imﬂ(&wonmgﬂg&:fng\”\ J
= 5 130 Il j’f —_—
e e— s P |
/ 125[) 110D ﬁf M]ZSD — JX}Q 1@:7 ‘ STEART2 TH
/ / / / 1250/ /? \\\ \%L\\\? \\J\JL:nsn’\,J X
j o ==
y /I = \ j

= — \
/Z //\\1 250\\\&\’\\\\
/

P

T \

B
TP

/
=
—

—

S
\\
—)

\

A

AN




